ﬁ/m?\/\q Linearized knot diagam
X//C)j S e e e

T
s
/2 1/ Solving Sequence
48 9 =510 27> 11 >1—>3 226> 10
A knot diagranﬂ 8 4 9 7 Co (11 C3 2 6

Ideals for irreducible component#ﬂ)f Xpar

I = (' —u®™ 4 —u 1)

* 1 irreducible components of dim¢ = 0, with total 46 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIM=(u*®—u®®+... —u+1)

(i) Arc colorings

o ()

1
ag = 0
1
ag = _u2
u
as = \ —ud +u
—u?+1
aig = —u?
uwt—u?+1
ar = ut
—uS +ut —2u+1
all = —UG _ u2
w — 8 +2u8 —ut —u2+1
a1 = \ —y? 4 2410 — 448 4 408 — 30t
wld — 20l 4+ 5u% — 6u” + 6ud — 4ud +u
az = wl® — M 30 — 20"+ 20 — w4 u
W — 4B+ — TuP + 2u
ag = —’LL37+5U35+"'—'LL3+U
—u?? +3u?0 - —2u? + 1
a6 = \ —u?? + 2020 4 .-+ 4ut —u?
—u?? +3u?0 - —2u? + 1
ag = —u22—|—2u20+~-~+4u4—u2
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u** +4u*3 + ... —du +2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs ut M —3u+1
C2 u'® 4+ 25u* 4+ w1
s u? — 7u*® -+ 25u+ 101
C4,C8 w4 a1
C6, C11 ulS Fu 4 1w+ 2
c7,Cy, C10 w11+ —ut 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs Yyt 4+ 25y 4. —y 41
C2 Yy Ty 1Ty 1
& y*% —19y™ + ... + 139967y 4 10201
C4,C8 gl — 11y 4 —y+1
C6 C11 y* — 39y + ... + 239y + 4
C7,C9,C10 y46+49y45+_9y+1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.926616 + 0.4105661

—0.61712 + 4.640331

3.90866 — 6.374671

0.926616 — 0.410566.1

—0.61712 — 4.640331

3.90866 + 6.374671

—0.914147 4- 0.4542461

—4.39692 — 0.741901

—1.01050 + 2.761531

—0.914147 — 0.4542461

—4.39692 + 0.741901

—1.01050 — 2.761531

0.911781 + 0.3041471

2.15395 + 4.511351

7.09548 — 8.741511

0.911781 — 0.3041471

2.15395 — 4.511351

7.09548 4 8.741511

= —0.954952 + 0.4184361

—3.69312 — 9.288621

0.73867 + 9.256441

—0.954952 — 0.4184361

—3.69312 4 9.288621

0.73867 — 9.256441

0.930509 + 0.0488331

—1.66163 — 4.022621

4.31758 + 3.301451

0.930509 — 0.0488331

—1.66163 + 4.022621

4.31758 — 3.301451

—0.890449 4+ 0.2392191

2.52825 — 0.407451

9.12909 + 0.877701

—0.890449 — 0.2392191

2.52825 + 0.407451

9.12909 — 0.877701

—0.814350 + 0.0775541

1.220450 — 0.0519211

8.69452 + 0.379041

= —0.814350 — 0.0775541

1.220450 + 0.0519211

8.69452 — 0.379041

—0.845736 + 0.830186.1

—4.84996 + 2.010351

0. —3.319701

—0.845736 — 0.8301861

—4.84996 — 2.010351

0.+ 3.319701

0.871966 + 0.8089851

—3.65550 + 2.316591

2.70777 — 2.808791

0.871966 — 0.8089851

—3.65550 — 2.316591

2.70777 + 2.808791

0.918456 + 0.7983021

—3.51223 4 3.710821

3.02524 — 2.420111

0.918456 — 0.7983021

—3.51223 — 3.710821

3.02524 4- 2.420111

—0.851134 4 0.8826851

—8.86024 + 1.863151

—6 — 1.106545 4 0.101

—0.851134 — 0.8826851

—8.86024 — 1.863151

—6 — 1.106545 4+ 0.107

0.845372 + 0.8905031

—12.13790 — 6.722441

—4.11786 + 3.492821

0.845372 — 0.8905031

—12.13790 +- 6.722441

—4.11786 — 3.492821

0.862272 + 0.8879801

—12.90310 4 2.355221

—5.23797 — 2.809981

0.862272 — 0.8879801

—12.90310 — 2.355221

—5.23797 + 2.809981

—0.943172 + 0.8030611

—4.55090 — 8.113881

0.+ 8.452931

—0.943172 — 0.8030611

—4.55090 + 8.113881

0. — 8.452931

0.640742 + 0.4103501

—1.44816 + 1.634071

—3.46961 — 5.263601

S| || |e|e|2 || (g e |g|2|e|g|g|g|g|g|g|g|g|g|g|ge|=

0.640742 — 0.4103501

—1.44816 — 1.634071

—3.46961 + 5.263601




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u = —0.907049 4+ 0.8442301

—8.35989 — 3.138751

—5.65909 + 2.640591

u = —0.907049 — 0.8442301

—8.35989 + 3.138751

—5.65909 — 2.640591

u = —0.391409 + 0.6350701

—6.04130 — 3.272131

—5.13047 + 3.474881

u = —0.391409 — 0.6350701

—6.04130 + 3.272131

—5.13047 — 3.474881

u = —0.966860 + 0.8343941 —8.49402 — 8.225511 0.+ 5.242101
u = —0.966860 — 0.8343941 —8.49402 + 8.225511 0. —5.242101
u = 0.963540 4 0.8442041 —12.58150 + 4.055801 | —4.67518 4 0.1

u= 0.963540 — 0.8442041 —12.58150 — 4.055801 | —4.67518 4 0.1

u = —0.313493 4 0.6454021

—5.71816 + 5.391611

—4.52962 — 3.704581

u = —0.313493 — 0.6454021

—5.71816 — 5.391611

—4.52962 + 3.704581

u = 0.974549 4 0.8353721

—11.7284 4+ 13.11121

0. —8.323501

u= 0.974549 — 0.8353721

—11.7284 — 13.11121

0. + 8.323501

0.339399 + 0.5991641

—2.45150 — 0.893251

—1.50590 + 0.299081

u = 0.339399 — 0.5991641

—2.45150 + 0.893251

—1.50590 — 0.299081

u = 0.107548 4 0.4625691

—0.09670 — 1.713681

—0.09766 + 4.168411

u = 0.107548 — 0.4625691

—0.09670 + 1.713681

—0.09766 — 4.168411




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1,C5 ut® —u?® 4 = 3u+ 1
“ u®® 4 25u 4 — w1
“ uls — 7ut® 4 4 25u + 101
ca, C8 u® utS o ful
Cg, C11 W L 1lu+2
€7,€9,C10 u'® — 11 4 —u 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Cs Y+ 25yt 4 —y+ 1
C2 y O Tyt = 1Ty +1
€3 Y0 — 19y*° + ... 4 139967y + 10201
c4,C8 y o 11y —y 41
C6; C11 y*® —39y* + ... + 239y +4
c7,C9, C10 y46—|—49y45—|—~--—9y+1




